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All questions are compulsory.
Marks allotted to each question

are given in the margin.

In numerical questions, give all

the steps of calculation.

Give relevant answers to the
questions,

Give chemical
wherever necessary.

equations
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i]' +1, +2
i) +1, +5
iif) -1, +5
iv) -1, -5. 1
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iii) 0.05
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¥) H,S g & wEfe H,O 9 %! ESE " b) The number of moles of chlorine in
HRUT § | _ "~ 7.1 gchlorinegasis
* i) H,O®ygaar i) 001
i) HyO I qoF # H,y8 &1 aifuw o1
! iiij) 005
iii) HpO ¥ SREISH S o
iv) 0-5. . 1
iv) T ¥ HIE T | 1 bt | ;

- _ - ¢} There are 7 electrons in 3d subshell
1. Four alternatives are given in each part ' ‘ - '

of this question. Select the correct of an glemcnt. The atomic number

alternative and write it in your answer- : of the element is upboardonline.com
book : ,
L L i) 24

a) The oxidation number of chlorine in ‘ '

NaOCl and NaClOj is - i) . 27 -

) +1, +2

i) +1, +5 i) 28

i) -1, +5 ivj 29, . 1

v) -1, -5, 1
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d) The molecular weights of |
2. ®) CaCl,.2H,0 @& 9 gued
hydrogen and oxygen are 2 and ) 2-4H2

32 respectively. The ratio of their At | 1
rates of diffusion is | | .
‘ ymﬁaﬁ%aﬁﬁm%maﬁm
i 1:16
. 7 fafau | 1
nm) 16:1 ‘
i) 4:1 | T _UF ad b 4f JUHW T 7 A
iv) 1:4. 1 W f RV & afam wRE w I
€) H,S is a gas whereas H,O is liquid. | B! et fafeu ) ; 1
Its reason is - '
¥) A fawa & 9Heg) 1
i)  polarity ¢f H,O ) : i
ii) the molecular weight of H,$S is 2. a Calculate the percentage
more than H,O composition of CaCl,.2H,0. 1
1) pres§nce oftnydrogen bond: in b) Describe briefly the Heisenberg’s
H,O . .
principle of uncertainty. i
iv) none of these. 1
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There are seven electrons in 4f

subshell of an element. Write down
all the four quantum numbers of the
last electron of this fsubshell. 1
Explain ionisation potential. 1
EIEGIo Y ! IELOT §RT TR 1
SlafhR STTEd WRUt H IR o S
&ﬂﬁ‘s‘Q! upboardonline.com 1
farr g U W W /W FW
R 1
73°C W W fedt N = T
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Explain hydrogen bonding citing

10

example. ' 1

Write down four characteristics of

long form of periodic table. 1

Explain sigma and pi bonds citing
example. 1
is

The of a

1 atmosphere at — 73°C. Keeping the

pressure gas

volume constant, at what

temperature should it be heated so

that the pressure becomes double ?

1
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T) Az Y FHERR S AR A w@ E 2 2 | 5. ®) f:n:r 1 IUPAC (30 o o To o)
u) wew Rl fawe @ uaw oF e |
e 2 ) [Cr(H0)6]Cl
4. '_a) Writé down  the comfnercial o - 1i) [Pt (NH3 ), Clz]
method to manufacturing Hydrogen _ ii) [Pt (NH3 )6]C14
peroxide. Also write _down the iv) Nay [Fe '( CN)s NO ] )

relevant chemical equation. . * 2

@) -IgAvSA ® N 9 @t sfskar <
i geleR fod | eieie wa &

b) Write down any four properties of

lanthanide and actinide elements. 2

| - FR e | 1 Heed § ? 2
¢) How is blister copper obtained from
matte ? 2 M) e TRt #t GRS
d) Write down the definition of I i Jufefd H (i) HyOp T
standard electrode potential and | ' (ii) SO, & 3tafswar &1 TS
"~ Nernst equation, ) 2 T 1
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'Write down the IUPAC names of the

following :

i) [Cr(H0)e]Cl

ii) [Pt(NH; ), Cl,]

iii) [Pt (NHz )6]Ci4

iv) Na, [Fe(CN)s NO]. 2
Write down the chemical equation
for the formation of ozone in

atmosphere. What is thc.importance

of ozone layer in our life ? 2

V

¢) i Write down the chemical

374(12) 14

AN A )gauation of the reaction of

-

Potassium dichromate in the
presence of sulphuric acid with

(i) H,O, and (ii) SO,. 1

ii) Write down the general formula

of zeolite and one of its uses. 1

d) Write down the chemical equation of
one method of preparation and one
chemical  property of  silicon
tetrachloride. 2

HZAT-heiR de1 [ gRT NaOH & Fmior
fafr &1 wfed avie w1 wEtad TwEhE
TETr ot fored | F1 @1 € 99 NaOH @i
TR H I T RIE 2 3
HgqQr
ged THY 3R Gifeaw @Az @ fAntor fafy
I IM@EAMAE THHT Aled Thax auig 1 w0
A & @ HW Fehe faemd @@ Afeam
Frare foea 4 affsrar sd & 2 3

Previous Pathshala 5564



374 (12)
Describe, with the help of a diagram, the
manufacture of NaOH by Castner-
Kellner cell method. Also write down the
relevant chemical equation. What

happens when NaOH is heated with

sulphur 77 - 3

OR
Describe, with the help of diagram and
‘chemical equation, the manufacturing
method of sodium carbonéte"'by Solvay
process. What happens when copper
sulphate selution is allowed to react with

sodium carbonate solution ? 3

s fafv g a3fes ome Fmimr &
wfas ovl wifsg) gefug varls gde

o ford | T 2T & 99 GewT &t Y 3R '
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T i & ? 3

Describe, with the help of a diagram, the
manufacture of Nitric acid by Ostwald’s -
method. Also write down the relevant-
chemical equations. . What happens
when sulphur reaéts with hot and

concentrated HNO 3 ? 3

OR |
Describe, with the help of a diagram,
the manufacture of sulphuric acid b};
contact process. Also give relevant
chemical equations. What happens when

carbon is heated with sulphuric acid ? 3
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